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Troubleshooting Low Throughput for a Tunnel

Problem

The throughput for a tunnel is lower than expected.

Low throughput may affect the performance of some applications.

Possible causes

The throughput may be experiencing throttling due to the maximum throughput licensed for the device.

Possible solutions

Check the activity log for the device. If the log includes this message, it means that the throughput is being limited by the maximum
throughput licensed for the device:

DROP POLICY EXCEEDED..Throughput policy exceeded. IN CRYPTO THRPUT POLICY DROP
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